M1 |For which of the following graphs of /' does

A(x) = f(-x) for all values of x shown?
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M2 | Forall positive values of x, the function f is defined by f(x) = x> — x2.

Of the following, which is the best approximation of f(x) for values of
x greater than 1,0007

(A) X3 (C) X°

(B) X* (D) X°
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T2 |[Inthe expression

T3

The terminal side of an angle 0, in standard position passes through the point (7, -24). What is

cscd?

24

a —-—
25

5
T
24

24

c. —
25

7

4 22
7

24

e. ——
-

u
Vi’ -1

sec x(secx+tanx)
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cscx(cscx+coty)

cosx(sinx—1)

sinx

Form the difference quotient for f(x)=
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. let u=cscx. Which of these is equivalent to the resulting expression?

and evaluate it at x = -3
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w1 Solve forx: 36" —6"" =16

log, 2
3log, 2
2log,3
log, 6
log, 16

W2

If log,3=P and log,4=0, find log, 18.

PO
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B. 2P+Q—
2

P
C. —+2
> 0

A, =
3
B. 1
C.3
i =
2
E. 9

If log_81=4, find log, Jx.

D. P+0’

E. P*+,/0

The figure below shows the graph of a cosine function for one period. Which of the following is an
equation for the graph?

a. }

b. y

c. y

c.
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